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b - Diagram NOT
i accurately drawn
@) Z y
OAB is a triangle.
~ ¢ AR = Ao + OR
OA=a I 4
= —a + 4
OB=b =
_)
(a) Find 4B in terms of a and b. N
A= 2. =S
(1)
P is the point on 4B such that AP:PB=3:1
(b) Find OP in terms of a and b.
Give your answer in its simplest form.
OP = oR t+ AF
—> -—
- 0A + 2 AR
4
- a ¥ 3(b -a
o +3(b-a)
s G4 — - =
=la +34
4 — "4, —_
of ¥ T2 Xg 2
(3)
(Total for Question 26 is 4 marks)
TOTAL FOR PAPER IS 100 MARKS
\. S

23

P 4 0 6 4 7 A 0 2 3 2 4



28

Y ®

Diagram NOT
accurately drawn

APB is a triangle.
N is a point on AP.

— — —>
AB =a AN =2b NP=Db
_)
(a) Find the vector PB, in terms of a and b.
= — —E
PR = PA + A
= s 3'3 + a 52

B is the midpoint of AC.
M is the midpoint of PB.

*(b) Show that NMC is a straight line.

— - =

NM = NP+ PM
= b +45(2-3b)
:E-‘—Jz:g"é_—é
=4a-4%b = $(a-4)

R Nf?l and NC are |n Sam< (/{Jf@"zc,y‘

-~ . a A 4
So NMHM(C ¢ « §é4”cuj\x£’ line )
(Total for Question 28 is 5 marks)

TOTAL FOR PAPER IS 100 MARKS
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26 B
5a-b Diagram NOT
Y accurately drawn
6b
——
4 3a
OAYB is a quadrilateral. 'AT% —> et
5 —4n B = Ao + oR
OB = 6b = —3a 45
_>
(a) Express 4B in terms of a and b.
= ;
pg = Cb — 3=
(H
, , S— -t e
X is the point on 4B such that AX : XB = 1:2 oY = oR + B4
and BY =5a—b - ¢b +Sa -4
*(b) Prove that 5_> = %5)7 . a B
AN i = 5b +5a =5(axs)
oxX = OA +AX -
—_ . ol
= 0OA + -ﬁAB
- 26« *Jz’(éb —-3:>
= Ra + 2H —A4
= Z2a+2b = 2(a+b)
._.—> B -Z _e
.. OX = Z OY 4)
S
(Total for Question 26 is S marks)
TOTAL FOR PAPER IS 100 MARKS
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Diagram NOT
J ‘.e L accurately drawn
N —
P ; @)
PQRS is a parallelogram.
N is the point on SQ such that SN: NOQ=3:2
PO=a
PS =b
(a) Write down, in terms of a and b, an expression for S_Q) .
— —> —
S® = SP + FQ L
= —-b + a .S_@) = . ﬁ'_’— ........
e - (H
(b) Express 1—\713 in terms of a and b.
w— veilp A
NR = NQ@ + QK
= }S: g—z L Ci?C)
- Z(ay b
= Sa=phio
= 24 +2h
. FETEE
(3)
(Total for Question 27 is 4 marks)
\. .
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24 OACB is a parallelogram.

A gt

Diagram NOT
accurately drawn

—_— —
AR = Ao + o8

_ — X +i>_

0 b B -
AR =L — g
— — .
D is the point such that AC = CD SN = OA + AN
The point N divides 4B in the ratio 2: 1 _ e 4
— OA + Z AR

_>
(a) Write an expression for ON in terms of a and b.

ON = L a + Z
A
- é’(‘j_ +25)
3
*(b) Prove that OND is a straight line.
—> —y 2
o) = oA+ AD
—7
= a 425 =" T o
= . —
g O D 0§ ivi Sam-e //h/@ ton al ON
So OoND ;S ac S‘ft"c\;ﬁl‘\t I;V\Q_
3)

(Total for Question 24 is 6 marks)

TOTAL FOR PAPER IS 100 MARKS
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Diagram NOT
accurately drawn
OAB is a triangle. > >
M is the midpoint of OA. PO
N is the midpoint of OB. A 5 - Ao + O B
—> v
OM =m - —2wm § 2n
—_—> —_— —_—
ON =n ,
Show that 4B is parallel to MN. R Y )
—> —> —>
MN = Mo + 06 N
- —m 4+ N - - ™
ol —
AR = 2 FMN
—

av e ’O(.\fa“-el,

(Total for Question 24 is 3 marks)
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Diagram NOT
accurately drawn
ABC is a straight line. ——p — —_—>
AB:BC=2:5 A8 = Ao +of
_)
OA=2a+b - ~2a - 5 -+ 3‘1 + 25
—> - ~— e— — e
OB=3a+2b ,
e ———2
Express OC in terms of a and b. H R = a 4 b

Give your answer in its simplest form.

O
o)
|l

il

(Total for Question 27 is 4 marks)
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*20
Qa Diagram NOT
A g ¢ B C accurately drawn
—_ — e
Adb = Ac + <d
= -2a =25}
’ = -2(a +b)
ACEF is a parallelogram.
B is the midpoint of AC. —> - —
]\j)is the midpoint of BE. 6 E = R¢ + < E
CB=a
e = -a _ 3%b
ED=b - -
9 S— 2
DC =2b g;‘ e gy i
i = pr 2 —
Show that AMD is a straight line.
—> — i
Am = AGB + GH
. —xac 35
= & 2 - =z
—>
M= ——EQ*-}.B :',S.(CH—A)
2 =~ A
. _ S—
A 1§ Eherehre o ~ulliple of AM
AV[B ;5 Cee g’t(‘o\;f)l"t (‘.V\e,.
(Total for Question 20 is S marks)
\, J
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0 >

OPTR is a trapezium.
—

OP=a

—

PT =b

—

OR =3b

(a) (i) Find OT in terms of a and b

(i) Find PR in terms of a and b
Give your answer in its simplest form.

-
. fDQ. =

—7 P
fo+ OK

Diagram NOT
accurately drawn

) A 0 000 0
P 4 9 3 0 2 A0 2 4 2 8
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Diagram NOT
accurately drawn

OAB is a triangle.

_)
04 = 5a R
O—B) =2b by ) " S a ::-;-“: -

T is the point on AB such that AT : TB=5: 1

Show that OT is parallel to the vector a + 2b

3
I
-
e
>

o

. —_
OT = ol + 6
=, 2‘ -

L 4

|~
o\

Q

>

>

s. = 5(a.2t)
‘ s(av2s

‘D(::.fl-\\lQ\ Eeo i+2-é_ ’

I

ey 4
é -

|

2
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A

3

VS

(Total for Question 23 is 4 marks) 05
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